S fn5 & E K H OB B K B — B (2 A 6 H . 2 A 7T H & W)
BT - mg/0 (KABHEIRK : CFU/100m0)
# E H H
® Ey # 7l {ﬁg‘é %i |k RS B & pH po | BoD | cop | ss (é‘;%e?‘%) (’&Hg) NH,~N | NO,N | NOs-N Egﬁ 0-N {%Fg%l(%m%‘
x /8§ 57 33 FEh | 9:30| 15.0| 12.5| fEE 3 6.9 16.7 10 0.9 11| <1 <0.5 <0.5 1.7| o0.10] 0.76| 0.86| <0.04 42
A b 3 1% Wi | 9:10| 15.6| 14.0| EE pii 3] 6.8] 16.6 9.6 0.9 1.5 2 <0.5 <0.5| 0.64| 0.02 4.3 4.3| <0.04 84
R I * B & FEiL | 14:02| 18.5| 16.5| EE MEE 6.9 16.8] 9.4 2.0/ 3.3 2 <0.5 <0.5| 0.66| <0.02 4.3 4.3| <0.04 120
% B J T & W4y | 11:49( 16.7| 15.5 0 fo pii 3] 7.2} 14.5 9.4 2.7 2.7 5 <0.5 <0.5 1.1 o0.02 3.7 3.8| <0.04 1, 600
BE A B (F F) FEHL | 10:45| 16.0| 15.0|%€& () B 7.1; 14.6| 8.4| 4.8 4.8 6 <0.5 <0.5| 0.45| 0.02 1.9 1.9| 0.57 160
x B B I Fiic] 7] & W4 | 11:09( 15.7| 14.5 0 fo fii 3] 7.1 14.7 9.4 1.2 1.6 <1 <0.5 <0.5| 0.44| <0.02| 0.55| 0.55| <0.04 60
x B HEHB (KE) FEi | 11:22] 15.1] 14.0| EE& MEE 7.2) 14.4| 9.4 2.0 2.9 4 <0.5 <0.5| 0.55| <0.02 1.8 1.9| <0.04 600
T AN N B e 15 FEiL | 13:10] 20.6| 17.5| fEE 328 7.3; 14.6| 9.4 2.8 1.8 <1 <0.5 <0.5| 0.58] <0.02 2.5 2.5| <0.04 300
& I s — ¥ B B FEh | 11:32] 19.1] 13.5| fEE B 7.20 17.2 10| <o.5| 13| <1 <0.5 <0.5| 0.36] <0.02| 0.41| 0.41| <0.04 120
5] ] & 4 | 13:33| 16.7| 15.0 fEf ER 7.7¢ 14.5 10 0.5 1.1 <1 <0.5 <0.5| 0.24| <o0.02 1.6 1.6| <0.04 40
s = H -3 FEh | 9:48| 16.5| 11.5| fEE B 7.30 17.2 10| 1.3 07 <1 <0.5 <0.5| 0.55| 0.02| 0.65| 0.67| <0.04 64
X B K ®M & 4 | 10:03| 14.8| 13.0 f4Ef ER 7.31 14.3 10 1.0 1.6 1 <0.5 <0.5| 0.34] <0.02[ 0.98 0.98 0.09 40
/A X & (B B ) BEh | 9:45( 15.4| 15.0|%€ (B) |LR#ERMO| 7.6; 14.6) 8.8 16 13 5 <0.5 <0.5 16 4.3 7.1 11 1.8 6, 200
WAl XK B2 B (& B ) R | 10:25| 16.0| 15.0 4Ef ER 7.2 14.6 9.4 <0.5 2.3 <1 <0.5 <0.5| 0.34| <0.02 3.9 3.9| <0.04 13, 000
% »OF B O(# d ) FEiL | 10:07| 17.3| 13.5| EE B 7.4 17.2 10 2.9/ o.8 <1 <0.5 <0.5| 0.50| 0.02 1.5 1.5| <0.04 360
=yl TEERK (H 1) R | 10:15| 17.0| 11.0 4Ef mR 7.6 14.5 10 1.7 1.6 3 <0.5 <0.5| 0.33] 0.02 1.5 1.5| 0.07 44
oy ¥ N & BB (E, ) BEh | 10:34| 17.0| 14.0| EE& R 7.5! 14.6 10 1.7/ 13 2 <0.5 <0.5 0.32| <0.02 2.3 2.3 0.17 180
=l R O(F ¥ ) W4 | 10:56( 15.7| 13.5 fi ) ER 7.4} 14.5 10 1.3 0.8 1 <0.5 <0.5| 0.23] 0.02[ 0.78 0.80| <0.04 120
2 SHEAE (BukA) FEiL | 13:18( 25.0| 13.5|&MBE(F)|LRER| 8.4) 14.6| 5.2| 230 130[ 130 <0.5 <0.5 32| <0.02 2.2 2.2| <0.04 18, 000
3 Bk FEh | 18:37( 21.3| 12.5|%®E (F) |LRERMO| 9.0; 14.8) 7.3 19 18 26 <0.5 <0.5 6.5| <0.02 11 11| <0.04 2,100
S EAR (2. 35HKIBENR) BEh | 13:52( 19.5| 15.0|%&® () |URBERGM| 7.1 14.9] 9.4 86 20 25 <0.5 <0.5 7.1| <0.02 20 20 12 14, 000
FINE ORRE R | 11:59| 20.3| 17.5( 4Eé ER 6.9 16.1 9.8 3.4| <0.5| <1 <0.5 <0.5| 0.39 2.4 5.8 8.2| <0.04 0
A FHAE (bSO ERHT) BEh | 9:25| 15.0| 11.5|%& (B) |Lm#ER@| 7.9) 16.3| 6.3 220 72 34 <0.5 <0.5 27 8.1 17 25 34 200
5 BHEAKER (IS 9 ME) G | 11:37| 15.7| 13.5|%& () | FARGK 7.20 16.4| 9.6 26 18 24 <0.5 <0.5 1.9| <0.02 4.4 4.4 1.7 1,400
WALHERR PRI bR (BMeBaik) | BEh | 14:08 | 19.0 [ 13.0 |%E& (F) |LR#R@O| 7.1 16.6] 8.8 190 53 41 <0.5 <0.5 19 5.0 20 25 22 24, 000
E ® i3 FR & 0.5/ 0.5/ 0.5 1 0.5 0.5| 0.02| 0.02] o0.02] o0.04] o0.04 1
A -2 il #* ba & 6.5<P<8.5 |7.5<P|P=<2.0 P=25.0 P<10.0 P=200
B B pir p: # & 6.5=P=8.5 [5.0=P|P=<3.0 P<25.0 P<10.0 P=1, 000
C H il #=* ba & 6.5<P=<8.5 |5.0<P|P=<5.0 P=50.0 —
E e Eir P % & 6.0=P=<8.5 |2.0<P|P<10.0 - —




